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Section 1 - Paper | General Knowledge and Current Affairs

No. of Questions: 15

1) Saikhom Mirabai Chanu won the Olympic Silver medal at the Tokyo Olympics in July 2021 for which of
the following sports?

A) Weightlifting
B) Archery

C) Wrestling

D) Boxing

1) FIRGYS 692 F1¢1 AR GRIR 2021 6Q 651AG ARXFAFER ARESIF| TR G ANAR EAA LR FGY6M?

A) QIQ Q6ARS
B) SaQie1
C)qd

D) ag°

2) In 2021 Basavaraj Bommai was sworn in as the new Chief Minister of which of the following states?

A) Maharashtra
B) Tamil Nadu
C) Kerala

D) Karnataka

2) 2021 AARIER QAR 6QIFIG, FIRAYS ANGER FIQ 67 ANIER GOR JHIABT AGER A2 J24 FRYER?

A) QRIQIg
B) cifineig
C) 6aam
D) adicw

3) In 2022, who among the following has been appointed as the Chairman of the University Grants
Commission (UGC)?

A) Sanjay Malhotra

B) Munishwar Nath Bhandari
C) M Jagadesh Kumar

D) Avinash Chandra Pandey
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3) 2022 6Q, AYAGE F1UQ @ FYFUIRC 2GR AT (FFD) Q 6IUANIQ AINER FYB 6LBE?

A) Qg9 AIN6RIQI
B) qRda q12l eaia
C) 91 @o6@4l gelIa
D) 23014 08 Cle®

4) In December 2021, which of the following banks has been appointed as an Agency Bank of the Reserve
Bank of India to conduct government business?

A) State Bank of India
B) Canara Bank

C) Bank of India

D) Bandhan Bank

4) 362ga 2021 6@, FIRNYE FRIQ 692 YITF AQRIQ FIIAY VFLIRA IR VAAGIA AFA USA IQ I6]G QT
QW6 FYD FAULRE?

A) 686 T 2% RS2
B) qioiqu Quie

C) Quie ag g2l

D) eaq que

5) What was the rank of India in the Human Development Index 2020, report published by the United
Nations Development Programme?

A) 124
B) 131
C) 66

D) 138

5) fae RIGAAR 18 AN FIA JRIFE A6 Sa18 goriam 2020 63 QIRGA AIRIS! A6 gRI?

A) 124
B) 131
C) 66

D) 138
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6) Annual Parasite Incidence rate is calculated for which of the following disease?

A) Tuberculosis
B) Covid19

C) Diabetes

D) Malaria

6) ACIRYS AUQ 67Q 6QIGl IR TR TAFIF FSEI TR TR FNAN?

A) asiI

B) 6@1@@19
C) erjer@
D) cquieadell

7) The phenomenon of piezoelectric effect is observable in which of the following options?

A) Photo cells in solar panels
B) Battery operated car
C) Dynamo of bicycle

D) Quartz crystals in the watch

7) GORGe SRagde AUQ 6RRTER 910 GGIQ JRIS 69SNIAN?

A) 6QINIQ THELNER ETIEST 6AN
B) quiesal 9136 @19

C) aIpsana GIaeIeal

D) aei6a RI6R 5@

8) The water stored in a dam possesses which of the following forms of energy?

A) Kinetic energy
B) Heat energy
C) Potential energy

D) Electric energy
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8) @ AQIGN6R IFC OR AYAYS AUIQ 69Q JRINQ 98 UG F6Q?

A) 96% 6@
B) aaia 6@
C) 4oe @

D) 8qie 6@

9) During whose tenure as Governor-General of Bengal, there came an end to the dual system of
administration of East India Company?

A) Lord Canning

B) John Shore

C) Warren Hastings
D) George Barlow

9) Q@I JRLQ-6E6R0IN VA FILIQ FITIRIR ISR, A% A& KRR 690 dIde UQUIQ Aellg 627

A) Q@ uIg°
B) aq 641
C) gieaq 628°q
D) e Qleal

10) The Revolt of 1857 for the Indian Independence against the British first started at which place in India?

A) Delhi

B) Meerut
C) Nagpur
D) Cuttack

10) QIREA UGS Al FFAANGT FQEER ,1857 @ F6FIT Y267l AR 699 VIFER QR 6IARYMI?

A) QR
B) dage
C) qiaga
D) ag@
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11) Which of the following freedom fighters of India is popularly known as Chakhi Khuntia?

A) Veer Surendra Sai
B) Buxi Jagabandhu
C) Chandan Hajuri
D) Magal Pandey

11) QIQEQ FIRYS IURS! GIFNAIRE UIQ @1 SIS Y& FIFI6Q KENGSI?

A) Q1a 469 I
B) o aclqg
C) oes egal
D) cgre aieg

12) Mississippi River flows through which of the following country?

A) Russia

B) China

C) USA

D) United Kingdom

12) 53¢ 6Q49 AUQ 6296 6o AJAT 9a1 gRITS §9?

13) Angel waterfall is located in which of the following nation?

A) South Africa
B) Canada

C) Costa Rica
D) Venezuela

< » f
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13) ¢ 694 FIQ 6RROIER BN FRYCIS ALTG?

A) @J4@ a1
B) qiqial

C) ea11ae!
D) 6a6agaal

14) In the Indian constitutional set up, to whom are the Council of Ministers collectively responsible?

A) The Prime Minister
B) The Governor

C) The Lok Sabha

D) The Rajya Sabha

14) QIQG12 AAJURR GLI6Q T131 IATE AT AN ARQQIAT?

A) QuIRaR1
B) qugyaie
C) smieasl
D) aisvas

15) As per the Article 75 of the Indian Constitution, who appoints the Prime Minister?

A) The President

B) The Chairman of Rajya Sabha
C) The Speaker of Lok Sabha

D) The Chief Justice of India

15) QIQQ1A AARJUIFQ AR 75 AU, QUKART &4 5YS *@a3?

A) Quiaad

B) aisiaqia 21s

C) 6nIeQaIa 91928
D) Qo6 q8ly @91a6
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Section 2 - Paper | Reasoning Ability

No. of Questions: 10

16) If P and Q together can complete a job in 3 days while P alone can complete the same in 6 days, then
how many days would be required by Q to complete the job alone?

A) 3 days
B) 4 days
C) 6 days
D) 12 days

16) 9@ P 9e° Q 70 QIG6Q 665N RIFg 3 9R6a 668 QEININE, 6U6E6Q6R @ 68eR P NgGRI AAIR QIAg 6 Ga6a
660 RRUIGE 6069 609R Q 19T IF AMIg 689 FAQ! IR 6REERR 29GP FRRIT?

A) 3Qq
B) 4 @a
C) 6 Qe
D) 12 &%

17) P alone can finish a job in 12 days while Q alone can finish it in 16 days. With the help of R, they have
finished the job in 4 days for a contract price of ¥ 1,200. What should be the payment received by Q?

A) Z 300
B) Z 400
C) % 500
D) 2 600

17) P 6415\ QIig 952l 12 @96Q 294108, 69606967 @ Q ¥qFal 12Iq 16 ¥06a @08 R @ AINGIER
627168  1,200Q ORI JMISR 4 TR6Q IS 699 @GE3I Q 6260 o= NN FAR! FQ?

A) Z 300
B) Z 400
C) % 500
D) Z 600
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18) In a college, 9 examiners can check 900 answer books consisting of same number of pages in 12 days
working 5 hours a day. If the number of answer books doubled and five examiners left, how many hours a
day are they needed to work to complete the evaluation process in 30 days?

A) 6 hours a day
B) 7 hours a day
C) 8 hours a day
D) 9 hours a day

18) 9@ ARIAQIRAER 9 R4l AR FAUILARIQ! TFoQ 5AQ Q1A QA 12 YR6Q AAIR Q6@ A 9229l 900 & @aQ
SIoI IR @GS 99 AR HIFIQ A 2 J&l @@ G 9e° 5 @8l ANIFI AIIKRRIQT RIF BIF FIRNAIAT, 6069
69€1I68 30 G@R6R FAUILR JRA 699 ARSI AIRl ARq 6R66 A4l AITY RAQI 2R 6297

A) 376Q 6 Q4
B) @a6a 7 a4l
C) @a6a 8 Q4
D) @gsa 9 aa

19) Janaki started from her house and walked 2 kms towards North. Then she took a right turn and covered

one kilometer. Then she took again a right turn and walked for 2 kms. In what direction is she going?

A) North
B) East

C) south
D) west

19) PIRR1 QIE AQ IV RAQ GG 2 FEMTCA SN S AR AL AEQ 64 RILNEIY FNEM B IR FERITTA AIGI FEM|
Q121 U6Q 64 Q& FIATY IREA B 2 FEAITER GINERI 62 I6Q 69Q G66R ARBE?

A) eaa
B) g

C) aga
D) adia
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20) Study the following information carefully and answer the question that follows:

A Research Institute is recruiting a librarian to digitize its information resources, among other duties.
Candidates must possess the following criteria. The candidate must

I) be not less than 35 years and not exceed 40 years as on 01.11.2009.

II) have Bachelor's Degree in Library and information Science with 65% marks.

[l1) have PhD in Library Science.

IV) have post qualification experience of at least 4 years in a University Library.

However, If the candidate fulfils the above mentioned criteria except

A) (1), but has a UGC NET certification with all other above criteria fulfilled, he/she may be referred to the
Dean.

B) (1V), but all the eligibility criteria are met and candidate has at least one years experience in a research
institute, he/she may be offered contractual appointment for a year.

Based on the above criteria, study carefully whether the following candidates are eligible for the recruitment
process and mark your answer as follows. You are not to assume anything other than the information
provided in each question. All cases are given to you as on 1/11/2009.

Mark Answer (1) If he/she is to be shortlisted.

Mark Answer (2) If he/she is not to be shortlisted.

Mark Answer (3) If he/she should be referred to the Dean.

Mark Answer (4) If he/she may be offered contractual appointment if required.

Prakash Sinha has been a librarian for a government institution for three years. Prior to this, he was a
University Librarian for 7 years after completing his PhD in Library Science. He graduated in 1991 with 68%
in Library Science. He is exactly 40 years of age on the specified date.

A) 1
B) 2
C)3
D) 4

20) 396a FAAIRYSI O UILYLR 2UAR FQP 1e° G121 G6R TAQIRAS 4K 2QQ FAG :

IR F6T4I gFRIR 2R Yol 929eq SRTIaR @Al 236 2RI FIY AR K64 AINCTAR S *Qas | gidinlee
NGO AINGS R QAR ZISFYR| QI 62ARYSI ISR

) 01.11.2009 g®I @AQA 2AGRE6R 35 Q¥ Q 9] 6LARRLYR IL° 40 QTQ 2P 6ARFAR|
Il) AIREFGAT 9IG° QATETAR ARFER 65% FFQ AT 96! Gg/1 gl

1) ARCTN ARFER TIFE FRR6R |

IV) 621401 21AN A6Q ATRE60 NP FITMIRA NACTAIER 4 TQ ARG 92YS |

2qdl 9@ gigi 29 94 AIReEgeR 903,

A) QE6a18 (1) 916,28 QIEa AR ANY QUEAIB AINGE Jad 6291 A6 9ad 609 ATTERY 08, oI aw Fecq
AOIRNRARR!

B) @a6Q18 (IV) Q4616, @g A7 6AIGE! AIRed Jadl 62108 1e° JIdiaa 6848l 9EIIRER 26ansa 1 9da 2RRG
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028, 91 9@ 9F AR ORI6a 78 TR

QU601 FINRE 2IIRSA, QYR FIQ @ag 6d FYRYE gigi YR gFa AIR QIS & @1 Ie° A6 FRUAIRYS
AU NS QAQ 9F6 FAP| A8 JGT g46a TRULIRRYR! YO G1E AR 6RI6T FA A 6091q Jl AGAIR
ROIRAIG 621 AL 1 AAS ASEI 21AdIE 1/11/2009 2gAIM T2AARE!

JG 64 QRIAT CINRIRS 626Q 666 QA (1)55¢ @ag!

A3 69 QBISE FINAIND 6269 AIT 696Q AAA (2)580 Fg

A% QI Gae At A0IJel SR 6669 @8 (3)0%6 @agl

A Qe g9 QIF 0QI6Q FYR TR 6069 Q@A (4)0%0 99g |

gei9 dg 67 od 62Rl 1@ 9911 gEIIRER NRTAR SR 7 *QEEI I JLQ 64 ARASTA ARAFER FIFR
Q@ @91 649 @5QI A6 7 Q@ A YRdd AIRELTRIR AINER AT *QYeRI 62 1991 AATICR AINCTA ARFER
68% QAT UOR AN *AB3 | FIFR 90 FRIAG 1A6a O] 40 Q¥ 62RE |

A) 1
B) 2
C)3
D) 4

21) M is the brother of K. T is the only sister of M. R is the mother of M. J is the husband of R. How many
sons does J have?

A) 1
B) 2
C)3
D) 4

21) M 62088 Keq @Iall T 62988 Maa 1a9ig @@4d1l R 62088 M@Q €12l J 62988 R @Q 99111 6961 J &9
6Q6915 g2 288?

A) 1
B) 2
C)3
D) 4
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22) There are six members A, B, C, D, S, K in a family in which there are three ladies and one couple. A is

the mother of C and D is the son of C. Husband of A is B and C is her son while K is her daughter. The
group of ladies is

A)SKA
B)ABC
C)ASD
D)SAC

22) 6015 90106 82 @6 AQaY A, B, C, D, S, K 2188, 6Q71a& 711160 G6 @8 Q1891 8 66N @48 2881 A 62088

C @@ Q12 9e° D 62988 Caa 921 A @6 Q91 62088 B 9&° C 62082 01 92 6d60696R @ K 62088 siwa &2
ALRAINTA 6GlIYT 6RRS

A) SKA
B)ABC
C)ASD
D)SAC

23) Choose the word which is least like the other words in the group

A) Democracy
B) Dictatorship
C) Monarchy
D) Economy

23) @ 69I191Q AR 99 AQ ALY ALAYS AR §a95g P9R FAG!

A) 9663
B) y@ggQi@
C) Qieoq
D) algiquaql

24) . Which is the odd one out among the four?
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C)

D)

DOC

24) S GI6QIT AIQ 699F §R 266?

&

o

&

DOO

25) Three of the below given pair of numbers are similar in a certain logical way. Find the pair which is NOT
similar.

A) 121:13
B) 169 : 13
C) 441 : 21
D) 625 : 25

< » f
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25) 3960 QAARYR F6RIT QAR 6QIG F1U6Q U@ FE] 6 AGAIA AIPHYS! 0TI AGE @ Yol 6AIPITY A9 Qg

A)121:13
B) 169 : 13
C)441: 21
D) 625: 25

< » f
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Section 3 - Paper | Computer Literacy

No. of Questions: 10

26) What is the purpose of Ctrl+B in word document?

A) It deletes the selected text.

B) It makes uppercase character for selected text
C) It makes bold for selected text
D) It updates the word document.

26) Word @qieqidsq Ctrl+B @624y @d?

A) 921 0ARE 69F, @ GRQ ¥6Q

B) w2l 0980 609,0IR 2006 @4 GG @60
C) 99l 0956 609,9 691 AR

D) 9@l Word egi6714 q 2609 @6

27) Which of the following is a shortcut key used to start a slide show from the beginning in MS Powerpoint?

A) F5
B) F3
C)F6
D) F8

27) 39RES A 680G MS-PowerPoint 6Q 9@ I8G-681§ 2IQAQ IR K6RIg Q4896 IR AGRY Key 21662

A) F5
B) F3
C)F6
D) F8

28) Which device is used for inputs in gaming?

A) Speaker
B) Monitor
C) Joystick
D) Graphics Card
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28) 697 6Q RQE TN 699 PARY TS 97

A) 3eQ
B) aGeq
C) aoaq
D) qicrq @16

29) Which one of the following unit of the CPU is responsible for Calculations ?

A) CU

B) ALU

C) Both ALU and CU
D) MU

29) CPU @ G9Rge 98¢ auiQ 6896 968! IR R@0QIa?

A) CU

B) ALU

C) Both ALU and CU
D) MU

30) Which of the following data can be represented by using barcodes?

A) Binary

B) Grey

C) Digital

D) Alphanumeric

30) QIQERIQ QIALIA AR FIRYS FUIQ 69 @161 AAAITE FALIRAIGS?

A) QRIS

B) 69

C) GooIm

D) 2Inerigueraq

< » f
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31) Google Drive is one of the most popular programs using

A) MainFrame Technology

B) Internet Technology

C) Client-Server Technology

D) Cloud- Computing Technology

31) 6nade 691916 JOn GINR P8 AT F6Q?

A) 61Q 617 656RIENIST

B) @406a¢ 606q16RIF

C) Q4-20Q 666161
D) QeQ - a#iG° 606qIenIG

32) CPU means:

A) Central processing uniform
B) Central printing unit

C) Central processing unit

D) Central power unit

32) CPU Q &8l 6298:

A) Central processing uniform
B) Central printing unit

C) Central processing unit

D) Central power unit

33) Which Portal for farmers enables all Central and State government organizations in agriculture and
allied sectors to give information/services/advisories to farmers by SMS in their language?

A) mKisan
B) mKrushak

C) mAgriCulture
D) mKrisi
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33) QERMIAE QIR 694 6AITIRN Q8 IS ALEAIGT AR AN 679 IQ° AINY AARIA! A°FORG 6ATIFT ATIER
QNG IRl QERAING JORIEARNTRINE 622162 AVE FReN?

A) mKisan

B) mKrushak
C) mAgriCulture
D) mKrisi

34) Which of the following is an E-mail Client?

A) Microsoft outlook

B) qualcomm

C) microsoft powerpoint
D) mail navigator

34) SIRGE CIQ 6R6EF IR R-601R FIIG?

A) Microsoft outlook

B) qualcomm

C) microsoft powerpoint
D) mail navigator

35) Which of the following is not an instant messaging platform?

A) Whatsapp
B) Telegram
C) Messenger
D) Gmail

35) GORYE FUQ 699G U@ AFRIQ 676G YT geE?

A) Whatsapp
B) Telegram
C) Messenger
D) Gmail
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Section 4 - Paper | Pedagogy and Evaluation

No. of Questions: 15

36) Which of the following statements are TRUE?

1) TLMs capture the attention of learners in a classroom

2) TLMs bring about a temporary retention of information.

A) Only 1 is TRUE
B) Onlt 2 is TRUE
C) Both 1 and 2 are TRUE
D) Neither 1 nor 2 is TRUE

36) FINYO QAYFR FRIQ 6RRT ABY 2667

1) SRIQIQ-89¢- ARG (TLMs) 9@ 654619260 SAIAINIGER IR T8 Q63

2) SRIQIR-894- AAG! (TLMs) oRIa 4@ 2RI UIQsl 2Neld|

A) 6299 1 90y 6T

B) 6@a@ 2 oy 266

C) 1 99° 2 90 QN 23

D) 1 @Ql 2 6a161GG c11 Aoy Ga8

37) TLMs are tools that can make a learner learn a concept with

A) ease

B) difficulty
C) boredom
D) confusion

37) SRIQI9-896- QAT (TLMs) 6208 698 20ead Ai9l 9ol 6a16d dR1eig @ geia 208 Q16 4l AIRAIEa?

A) aee
B) @1
C) Goae!
D) g%
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38) Which of the following is a feature of learner centered approach?

A) Learners are active participants

B) Teachers engage the students

C) Teachers decide on the content

D) Learners are dependendent on teachers

38) AORGE AUQ 62QG RILH 6T VIR 9@ 6TG! 2667

A) Q117160 UG 2°9gERIQ1
B) dgacien 219AIRG G6AIRe @08
C) deadler Ie99g QU6a 59a Gad

D) 3918161169 S99 QU6 G9d1R

39) Which of the following is an objective type of test?

A) writing an essay

B) oral presentation

C) true-false

D) collaborative project

39) RS AUQ 699G Y@ gAY (2QERRN) JRINQ ANIVE 26872

A) 9@ JoR 6N
B) 6¢lg@ 201a8!
C) Qaey-deanl

D) ageqiol g@s

40) Diagnostic evaluation is specially conducted to identify and remove

A) the learning difficulties of learner

B) the difficulties in placement

C) the difficulties of management

D) the difficulties in administering the test
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40) Q2R TE IQ° AAARE AIN 6FAFR JRIVR JOF NIFER FRIA?

A) dQieliaa dae a9

B) 21g1a6 @aQi6a aquI

C) ateInqI adalsa agall

D) ac1gq adoiaql @aQleq Agau

41) Knowing students’ strengths and weaknesses can help a teacher to better plan what to teach and how
to teach it. Which of the following assessments can be used for such planning?

A) Summative Assesment
B) Diagnostic evaluation
C) Placement evaluation
D) Post Assesment

41) QAINIEER 93 I9° QARG FISYQl 968 JAR @'¢ JVIRIR AR I9° AUR JFI QI8 RREQ GIFI IR AR 6UIRAI
Q09160 AIRIAY R6Q1 YA 6QIFAI AR FIRYE FRIQE FIQ 6T MR FAARAIRR?

A) Q619 4oR FaIRd
B) efeife gauae
C) queaie gauige
D) ageel Aa1ad

42) Summative Assessment is

A) Assessment of learning
B) Assessment as learning
C) Assessment of learners
D) Assessment for learning

42) Aq1g 9O@ FNIQE 629T -

A) §99Q ARIQE

B) d84 aue6q ARIQ¢
C) daidt alese Ga10d
D) d84 aIQ &I
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43) The Zone of Proximal Development (ZPD) is a concept proposed by

A) Piaget

B) Vygotsky

C) Piaget and Vgotsky
D) Bruner

43) 691Q 2T 69IF7IR 62RNA6AE (ZPD) 9@ Il 2631 21 QL FIQl JIRG?

A) deles

B) &6q16&

C) Gelew 9e° K601
D) gaa

44) Which of the following statements is a TRUE statement?

A)  Cognitivists perspective focused on hidden behavior whereas behavioursits concentrated on role of
internal cognitive processes in learning

B) Behaviorist perspective focused on hidden behavior whereas cognitivists concentrated on role of
external cognitive processes in learning

C) Cognitivists perspective focused on observable behavior whereas behavioursits concentrated on role
of internal cognitive processes in learning

D) Behaviorist perspective focused on observable behavior whereas cognitivists concentrated on role of
internal cognitive processes in learning

44) FORGO FPRYFR R 6RRE A 216677

A RINQILIIGE QE6RIS QRILS AFAE QUER IP 6QRUN 6I606RER TSR] FVCER 2SS 691
JP9Ia QIR AU6Q 2L 6eRYER

B) 2cadQidia 936RIS QRIHS 200 QU6Q IR 69RgRICRER RIFAIQIAIES JAG6Q QIFY 6918 gFaIa il
QUEQ IR 6RYEM

C) RGeS QE6RIE GRIVECAIGY GRS AUER AIF 6@RYIICIER IS TSR ANNBAE 6918
JIR YA QU6Q IR 6T

D) a1eedQiais Q8618 FRIISEAGY 2ISAE QUER IR 6ARIYQCIER RIARIIAIEH FAS6R 2IQIBANE QTR
JTAUQ QA QUEQ IR 6QRYER
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45) In which approach do the learners choose what they will learn, how they will learn and how they will
assess their own learning?

A) Learner centered approach
B) Learning centered approach
C) Teacher centered approach
D) Teaching centric approach

45) 69Q I8GF6Q SRNINIER F68 @'¢l FY6S, FAR JHea IS° FF JYER JRUISE @AQ 629 QIQl QIFE, IAIQ '€l
QRIAN?

A) SRigh 685 IR
B) dine 6@Ge a1@qs
C) dige cF5e AR
D) daiQie 6359 2@

46) Which of the following along with teaching makes teaching-learning transactions effective?

A) Competing

B) Punishing

C) Testing

D) Procastinating

46) QIR A0 FINYS IR 69AT YIAIF-TVNS 6266949 JALTIRT RAL?

A) 9o6QIGo!
B) eg

C) axiae

D) @iee8ad

47) The public examinations conducted by the appropriate school boards are

A) Internal assessment
B) Informal assessment
C) External assessment
D) Equality assessment
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47) 2998 FRG 6916 TIR AGSIRE ATARIIRS ANV GLIAI]

A) 214318 FEIRE
B) 2isqlaciae GaIee
C) qIigy 3108

D) aqel 88104

48) Children speaking to themselves while solving a word problem in mathematics is termed as

A) Private speech

B) Framing speech
C) External speech
D) Community speech

48) 9806Q @ 98 AAAIQ AL FRQ ANUER TAAEE F6R e ATC RAUIRIG FRY @'¢ QRIAN?

A) ¢ Qag

B) @ae cog
C) qigy Qaie
D) ageia @ae

49) A toddler attempting to walk is helped by her parent by holding hands providing support is an example
for

A) knowledge adaptation
B) knowledge construction

C) zone of proximal development
D) scaffolding

49) SINQIG 698 KQYSI NS 68I¢ INIQ FIF TFIAIGI [IQ G OIg AIRIYY FAE| 92 AL IR AQILAE 2667

A) BI9Q 29956

B) fiea Gdig

C) Gaceal Gal9e 68Q
D) «uecri@’
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50) Which approach stresses on individuality of a child?

A) Humanistic and cognitive approches
B) Humanistic approach

C) Behavioristic and cognitive approach
D) Cognitive approach

50) 6a@ AR Fga BAGS! RUCRA V1T AN NN

A) IRQQIGT Ie° 6QIRQ TS
B) qigeial a1eigsy

C) 219049191 99° 691G 2R
D) Q@@ anwg s
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Section 5 - Paper |l Physics

No. of Questions: 30

51) The resistance of a wire is 10 Q. Its length is increased by 10% by stretching. The new resistance will
now be

A)12.1Q
B)1.2Q
C)13Q
D) 11 Q

52) Which of the following is vector quantity?

A) Current density
B) Wattless current
C) Current

D) Power

53) An unknown resistance R+ is connected in series with a resistance of 10 Q. This combinations is
connected to one gap of a metre bridge while a resistance R: is connected in the other gap. The balance
point is at 50 cm. Now, when the 10 Q resistance is removed, the balance point shifts to 40 cm. What is the
value of Ry?

A) 40 Q
B) 30 Q
C) 20 Q
D) 10 Q

54) The resistance of an ideal voltmeter is

A) Zero

B) Very low
C) Very high
D) Infinite

55) The coil of area 0.2 m? has 500 turns. After placing the coil in a magnetic field of strength 4 x10-4 Wb/m?,
if rotated through 90 degrees in 0.2 s, the average emf induced in the coil is

A) 0.012 V
B) 0.05V
C)0.1V
D)0.2V
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56) A car has a fresh battery of em.f. 12 VV and internal resistance of 0.05 Q. If the starter motor draws a
current of 90 A, the terminal voltage when the starter is on will be

A) 12V
B) 10.5V
C)8.5V
D)7.5V

57) A body has —80 pC of charge. Number of additional electrons in it will be

A) 8x10'
B) 8x10-¢
C) 5x10'
D) 5x10-4

58) A spherical condenser has inner and outer spheres of radii a and b respectively. The space between the

two is filled with air. The difference between the capacities of two condensers formed when inner sphere is
earthed and when outer sphere is earthed will be

A) 4treoab
B) 4reob

C) Zero
D) 41reo

59) A condenser of 50 yF capacity is charged to 10 V. Its stored energy is equal to

A) 2.5x103° J
B) 2.5x102J
C) 5x102 J
D) 2x10* J

60) The weight of a body at the centre of the earth is

A) Zero

B) Infinte

C) Same as on the Earth's surface

D) Double as compared to weight on surface of Earth

'
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61) If the value of g at the surface of the earth is 9.8 m/s?, then the value of g at a place 480 km above the
surface of the earth will be

(Radius of the earth is 6400 km)

A) 8.5 m/s?
B) 9.8 m/s?
C) 7.2 m/s?
D) 4.2 m/s?

62) At what altitude (in metres), the acceleration due to gravity is 25% of that at the Earth's surface?
(Radius of Earth = R metres)

A) R/4
B) R

C) 3R/8
D) R/2

63) The power utilised by an engine which performs a work of 1250 J in 5 seconds is:

A) 125 W
B) 250 W
C)312W
D) 625 W

64) An external force is being used to maintain oscillation in a body and then the body oscillates with a
natural frequency which is equal to the frequency of the external agency. These oscillations are called:

A) Free oscillations

B) Forced oscillations
C) Damped oscillations
D) Periodic oscillations

65) If period 'T" is the time required to complete one oscillation, then the relation connecting the frequency 'f'
with period is given by:

A) f=1/T

B) f=T

C) f=2T

D) f=1/2T
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66) The angular frequency 'w' of oscillations of a block of mass 'm' which is pushed down and released
when connected to an elastic spring of spring constant 'k' and executing simple harmonic motion is

A) w = 2k/m
B) w =k?m

C) w=k/m

D) w = (k/m)'?

67) When a particle is found to execute simple harmonic motion, the value of acceleration at the mean
position is

A) infinite

B) maximum

C) zero

D) fluctuating

68) When an incident plane wavefront is passed through the prism , then the emerging wavefront will be

A) spherical
B) plane

C) tilted

D) conical

69) Read the following statements and choose the CORRECT answer.

(i) Huygens principle is essentially a geometrical construction, which given the shape of the wafefront at any
time allows us to determine the shape of the wavefront at a later time.

(i) According to Huygens principle, each point of the wavefront is the source of a secondary disturbance

and the wavelets emanating from these points spread out in all directions with the speed of the wave.

A) (i) - TRUE and (ii) - FALSE
B) (i) - FALSE and (ji) - TRUE
C) (i) - FALSE and (ii) - FALSE
D) (i) - TRUE and (ii) - TRUE

70) When two coherent light sources meet together there is a distribution of energy and this superposition
leads to the phenomenon of

A) reflection
B) refraction
C) diffraction
D) interference
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71) If the focal length of the eye piece of a telescope with magnifying power 'M' is doubled then its new
magnifying power will be

A) M/2

B) M

C)2M

D) 4M

72) The power of a concave lens is -4D. The focal length of the lens is

A) -50 cm
B) -25 cm
C) +50 cm
D) +25 cm

73) Streamline flow is more likely for liquids with

A) High density and low viscosity
B) low density and high viscosity

C) High density and high viscosity
D) low density and low viscosity

74) Which of the following is referred as the property by virtue of which liquid opposes relative motion
between its different layers?

A) Cohesion

B) Adhesion

C) Viscosity

D) Surface tension

75) Temperature and Length are

A) extensive and intensive properties respectively
B) intensive and extensive properties respectively
C) intensive properties
D) extensive properties
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76) Which of the following characteristics of sound enables us to distinguish one sound from another
having the same pitch and loudness?

A) Quality

B) Wavelength
C) Amplitude
D) Intensity

77) The phenomenon of rise and fall in the intensity of sound that occurs when two interfering sound waves
of nearly (but not exactly) equal frequencies are produced simultaneously is termed as:

A) Interference

B) Beats

C) Refraction

D) Standing waves

78) The time interval between two successive maxima of sound when two waves of almost equal
frequencies fi1and f. reach at a point simultaneously is

A) ff;
B) 1/fi-f,
C) fu/fy
D) fi/f,

79) When an observer and the source are moving in the same direction and with same velocity along the
propogation of sound, then the frequency is found to

A) increase
B) be the same
C) decrease
D) be infinite

80) With the increase in temperature (T), the velocity of sound is found to vary by

A) (T)‘UZ
B) 1/T

C) 1/(T)12
D)T
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Section 6 - Paper || Chemistry

No. of Questions: 30

81) What should be the molecular mass of potassium permanganate in acid medium?

A) 2 x equivalent mass
B) 3 x equivalent mass
C) 4 x equivalent mass
D) 5 x equivalent mass

82) Which of the following gives the number of moles of atoms?

A) Avogadro's number / number of atoms
B) Number of atoms / Avogadro's number
C) Mass of the substance / number of atoms
D) Mass of the substance x number of atoms

83) What is the equivalent mass of potassium dichromate?

A) 31.6
B) 158
C) 49
D) 296

84) Which of the following has metallic bond?

A) Nitrogen
B) Copper
C) Chlorine
D) Oxygen

85) Which of the following molecule has octahedral structure?

A) CH4
B) PCls
C) SFs
D) NHs
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86) What is the percentage of 's' character and 'p' character in sp3 hybridised orbital?

A) 25 % 's' character and 75 % 'p' character
B) 50 % 's' character and 50 % 'p' character
C) 33.3 % 's' character and 66.6 % 'p' character
D) 75 % 's' character and 25 % 'p' character

87) The effect of a change in concentration on systems at equilibrium can be explained as follows using Le
Chatelier's principle?

A)  When the concentration of reactant is increased, the system tries to reduce their concentration by
favoring backward reaction.

B) When the concentration of reactant is increased, the system tries to reduce their concentration by
favoring forward reaction.

C) When the concentration of reactant is decreased, the system tries to increase their concentration by
favoring forward reaction.

D) When the concentration of product is increased, the system tries to reduce their concentration by
favoring forward reaction.

88) Which of the following is the correct expression for acidic solution?

A)pH<7
B)pH>7
C)pH=7
D) pOH =7

89) Calculate the pOH of 0.02M NH3 solution. [The ionization constant Kb for NH3 is 1.8 x 10*-5 at 298K;
log6 = 0.7782]

A) 2.2218
B) 3.2218
C)2.7782
D) 3.7782

90) In which of the following compounds, oxidation number of an element is fractional?

A) FeO

B) FE.‘203
C) Cr:0s
D) Fex0a
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91) What volume of 0.2N HCI is required to neutralize 50 ml of 0.1N NaQH?

A) 25 ml
B) 20 ml
C) 30 ml
D) 40 ml

92) What is the oxidation number of Cr in K2Cr207 and Cr2(S04)3 for the reaction, K2Cr207 + 4H2S04 —
K2S04 + Cr2(S04)3 + 4H20 + 30?

A) 7.3
B) 3,7
C)6,3
D) 3,6

93) Which of the following statement is correct?

A) Atomic radii decrease along the period and increase down the group
B) Atomic radii increase along the period and decrease down the group
C) Atomic radii increase along the period and increase down the group

D) Atomic radii decrease along the period and decrease down the group

94) Which of the following represent the valency shell electronic configuration of 4s2 4p3 in the modern
periodic table?

A) Group 15 and period 4
B) Group 15 and period 5
C) Group 16 and period 4
D) Group 16 and period 5

95) Which of the following statement is true regarding the electron affinity of elements?

A)O>Se>S>Te
B)O>S>Se>Te
C)S>0>Se>Te
D)S>0>Te>Se

96) Which of the following metal is extracted from the ore bauxite?

A) Iron

B) Copper
C) Zinc

D) Aluminium
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97) Identify the cathode and anode reactions for the electrolytic method of refining of copper.

A) Cathode reaction: Cu — Cu+ + e- & Anode reaction: Cu+ + e- — Cu
B) Anode reaction: Cu — Cu+ + e- & Cathode reaction: Cu+ + e- — Cu
C) Cathode reaction; Cu — Cu2+ + 2e- & Anode reaction: Cu2+ + 2e- — Cu
D) Anode reaction: Cu — Cu2+ + 2e- & Cathode reaction: Cu2+ + 2e- — Cu

98) What is the difference between smelting and roasting process?

A)  Smelting involves extraction of metal with oxidising agent agent whereas roasting involves extraction
of metal with reducing agent

B) Smelting involves extraction of metal with reducing agent whereas roasting involves extraction of
metal with oxidising agent

C) Smelting and roasting involves extraction of metal with reducing agent
D) Smelting and roasting involves extraction of metal with oxidising agent

99) Alkynes undergo oxidation in presence of alkaline potassium permanganate produces?

A) carboxylic acid and carbon monoxide
B) carbonyl compounds

C) carboxylic acid and carbon dioxide
D) alcohols

100) In the presence of catalyst solution composed of cuprous chloride and alkali metal salt, acetylene
undergoes which reaction?

A) dimerization

B) trimerization

C) monomerization
D) tetramerization

101) Which among the following is a useful reaction to prepare aldehydes, ketones, and carboxylic acids
from alkenes?

A) Osmosis

B) Ozonolysis
C) epoxidation
D) Cannizzaro
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102) Stability increasing order of carbonium ions is?

A) primary > secondary < tertiary
B) primary < secondary < tertiary
C) tertiary < secondry < primary
D) tertiary < secondry > primary

103) Hydronium, nitrosonium and bromonium ions are related to

A) nucleophiles
B) free-radicals
C) electrophiles
D) carbanions

104) The order of appearance of hybridization on C-atoms in 2-butene is

A) sp3,sp,sp,sp3

B) sp3,sp2,sp2,sp3
C) sp3,sp,sp2,sp3u
D) sp3,sp2,sp,sp3r

105) Which of the following indicates Graham's law of diffusion?

A) The rate of diffusion of a gas is inversely proportional to square root of its molecular weight
B) The rate of diffusion of a gas is proportional to its molecular weight

C) The rate of diffusion of a gas is inversely proportional to its velocity

D) The rate of diffusion of a gas is proportional to its velocity

106) Calculate the number of moles of a gas occupying 27.3 dm? with 3.32 bar pressure at 0°C. (R=0.083 lit
bar / mol / K)

A) 2 moles
B) 4 moles

C) 6 moles
N & mnlac
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107) Calculate the temperature of 8.0 moles of a gas occupying 5 dm?® at 3.32 bar. (R = 0.083 bar dm? K"
mol-')

A) 25 K
B) 50 K
C) 75K
D) 100 K

108) Which of the following realtionship indicates “De-Broglie equation™?

A) E=hc/A
B) E=mc2
C) A=h/mv
D) E=Nhc/A

109) What should be the statement for “Heisenberg’s uncertainty principle”?

A)  Electrons enter into different atomic orbitals in the increasing order of their energies
B) The maximum number of electrons that an orbital that can accommodate is two

C) Electron pairing in p, d and f orbitals cannot occur until all orbitals of a given sub-shell contains one
electron each

D) Simultaneous determination of exact position and momentum of an electron is impossible

110) Calculate the frequency of yellow radiation having wavelength 6000 Ao. [1 Ao = 10*-10 m]

A) 2 x 104 Hz
B) 1 x10M5 Hz
C)5x10"4 Hz
D) 8 x 104 Hz
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Section 7 - Paper |l Mathematics

No. of Questions: 40

111) The equation of the plane passing through the points A= (1,1,1), B=(1,-1,1), C=(-7-3,-5) is

A) 3x-z+1=0
B) 3x-4z+1=0
C) x-4z+1=0
D) 3x-4z=0

112) Equation of the sphere having the points (2,1, -3) and (1, -2,4) as the ends of the diameter is

A) x?+y?+72-3x+y+2-12=0
B) x2+y?+z%+3x+y-z-12=0
C) x?+y?+z2-3x-y-z-12=0
D) x?+y?+z2-3x+y-z-12=0

113) If f(x) = ax®, then the value of x f'(x) -3f(x) is

A) 0
B) 1
C) -1
D) 2

114) If f(x)=x100+x+x%8+_ ... .. +x+1, then the value of f'(1) is

A) 5070
B) 5050
C) 5060
D) 5150
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116) Equation of a straight line can be expressed by using a

A) linear equation

B) quadratic equation
C) cubic equation

D) biquadratic equation

117) Eccentricity of ellipse is always

A) Zero

B) greater than 2
C) less than 1

D) less than 2 but greater than 1

118) What is the equation of the line joining the points (3,4) and (-5,-6)7

A) 5x-4y+1=0
B) 5x+4y+1=0
C) 5x+4y-1=0
D) 5x-4y-1=0

119) Which of the given points in the x-axis is equidistant from the points (2,-5) and (-2,9)?

A) (5,0)
B) (-5,0)
C)(7,0)
D) (-7.0)

120) What is the area (in sg. cm) of a sector of a circle whose radius is 6 cm, if the sector makes an angle of
60° at the centre?

A) 144
B) 132

C) 132/7
D) 144/7
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121) Number of faces of a polyhedron with 30 edges and 20 vertices is

A) 13
B) 12
C)8
D) 14

122) A big sphere is melted and recasted to 8 identical small spheres of same radius. What is the ratio of
new radius of each small sphere to that of the radius of big sphere?

A) 1:8
B) 1:4
C)1:3
D) 1:2

123) Volume (in cubic. cm.) of a largest sphere than can be inscribed in a cube of side 21 cm is

A) 4541
B) 4851
C) 4581
D) 4158

124) If three sides of a right-angled triangle are integers in their lowest form, then the length of one of its
sides is always a multiple of

A) 13
B) 7
C)5
D) 11

125) The number is divisible by 25 only, if

A) The last digit of the number is zero

B) The last digit of the number is 5

C) The last two digits of the number is divisible by 15

D) The last two digits of the number is either zeroes or divisible by 25

126) The least number which is a perfect square and has 560 as a factor is

A) 19600
B) 18600
C) 17500
D) 19200
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127) What will be the remainder when 19'%is divided by 207?

A) 5
B) 3
C)9
D) 1

128) In a well shuffled pack of 52 playing cards, picking of two cards from it, can be done in

A) 52 ways

B) 1326 ways
C) 1258 ways
D) 1542ways

129) An event containing only a single sample point is called

A) Equally likely events
B) Impossible events
C) Possible events

D) Simple events

130) The probability of getting exactly 3 heads in a simultaneous toss of 4 coins is

A) 1/2
B) 1/3
C) 1/4
D) 1/5

131) The probability of getting the sum as a prime number when two dice are thrown together is

A) 5/18
B) 5/12
C) 4/13
D) 4/17

132) What is the maximum number of distinct roots a quadratic equation can have?

x >

)1
)0
C)2
)3
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133) How many distinct real roots are there for the equation x2-6x+5=07?

A)O
B) 1
C)2
D) Infinite

134) In which of the following interval k lies so that the equation kx?—8x+k=0 possess real solution?

A) (-3,3)
B) [3,3]
C)(-4.4)
D) [-4,4]

135) Maximum value of the expression 5+4x- 4x2is

A) 5
B) 6
C) 1
D) 2

136) If the roots of a quadratic equation ax?+bx+6=0 are -3 and -2, then the value of 'b' is

A) 2
B) 3
C) 4
D)5

137) If A and B are two sets such that AXB = ®, then which of the following must be true?

A) A=dand B=®
B) A= ® and B# ®
C)A#dand B=®
D) A= © and/or B= ®
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138) Let A and B be sets with |B|=3. If there are 4096 relations from A to B, then |A|=

A) 5
B) 4
C)6
D) 3

139) Gregory series gives the expansion of

A) logarithmic function

B) tangent function

C) inverse tangent function
D) exponential function

140) The series 1+(1/2) +(1/4) + (1/8)+.....+%

A) Converges

B) Becomes zero
C) Oscillates

D) Diverges

{n+1}
n
141) The sequence is

A) Increasing
B) Decreasing
C) Unbounded
D) Oscillating

1 mn
142) Limiting value of the sequence {Sn}, where 5n = (1 {2 Z)

A) log 2
B) e

C) e?
D) 2e
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143) If A and B are mutually exclusive events, then P(ANB) is

A) 0
B) 1
C) -1
D) 2

144) If n(A)=38, n(B)=42, n(A U B)=60, then n(A N B) is

A) 10
B) 14
C) 18
D) 20

145) The middle term of the series arranged in ascending or descending order is called

A) Mean

B) Median

C) Mode

D) Standard deviation

146) What is the average of the median of the set A= {2,1,3,6,7,9,8} and the mode of set B=
{2,3,8,4,6,8,8,9,9}?

Sozm2
© N o o

147) What is the value of the expression given below?

cos1?, cos2°.cos3%.cos4°....cos90°

A) 1
B) 90
C) 45
D) 0
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148) 1 radians is equivalent to

A) 60 degrees
B) 180 degrees
C) 90 degrees
D) 45 degrees

149) Simplify : sin 2A /(1-cos 2A)

A) tan A
B) cot A
C)sec A
D) cosec A

150) One of the general solutions of sin x + sin 3x = sin 2x is

A) nmr

B) nm/4
C) nm/6
D) nr/2
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Question Paper No: 76342_17
Answer Key

1| A 31| D 61| A 91 | A 121 | B

2|D 32|1C 62 | B 92 | C 122 | D

3| C 33|A 63| B 93 | A 123 | B
41D 34 A 64 | B 94 | A 124 | C

5/B 35|D 65| A 95 | B 125§,D

6|D 36| A 66 | D 9 | D 126 | A

71D 37| A 67| C 97| D 127 | D

8|C 38| A 68| C 98 | B 128 | B

9|C 39|C 69 | D 99 | C 129 | D
10| B 40| A 70| D 100 | A 130 | C
11| C 41 | B 71 | A 101 | B 131 | B
12| C 42 | A 72| B 102 | B 132 | C
13D 43 | B 73| B 103 | C 133 | C
14| C 441 D 74| C 104 | B 134 | D
I5A 451 A 75| B 105 | A 135| B
16 | C 46 | C 76 | A 106 | B 136 | D
17| A 471 C 77| B 107 | A 137 | D
18| D 48 | A 78 | B 108 | C 138 | B
19| C 49 | D 79 | B 109 | D 139 | C
20 A 50| B 80| A 110 | C 140 | A
21| B SI|A 81D 11| B 141 | B
22 | A 52| A 82| B 112 | D 142 | B
23| D 53|C 83| C 113 | A 143 | A
24| D 54| D 84 | B 114 | B 144 | D
25| A 55 PpD 85| C 115 | B 145 | B
26 | C 56 | D 86 | A 116 | A 146 | C
27 | A 57| C 87| B 117 | C 147 | D
28 | C 58 | B 88 | A 118 | A 148 | B
29| B 59| A 89 | B 119 | D 149 | B
30D 60 | A 90 | D 120 | C 150 | D
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